LASER S.0.S. GROUP

TECHNOLOGY AND MARKET DRIVEN COMPANY!

LAMP PUMPED
LASER HEADS

High performance and reliability

Intelligent Solutions, Manufacturing & Development

Part No: CHBASTARMARK®65

L ASER SYSTEMS: Baasel Lasertechnik StarMark 65 W, AB Laser StarMark 65 W

DESCRIPTION:  Single-Lamp Pumped Solid-State Laser Chamber used for precision marking & engraving

applications.
ASSEMBLIES:
REFERENCE PART NUMBER DESCRIPTION
| ORKSTARMARK O-Ring Kit
2 GCSTARMARK Gold Cavity Assembly, Complete
3 BASTARMARK Head Block Assembly (Less Cavity, YAG Rod, Lamp & Carriage)
4 HBASTARMARK Head Block Assembly (Less YAG Rod, Lamp & Carriage)
5 CHBASTARMARK®65 | Complete Head Block Assembly, 4 mm X 79 mm

210



Part No: CHBASTARMARK®65

| WF052 Water Fitting, Elbow, 64630-019, 102103461
5 WF054 Water Fitting, Q-Switch, 64630-047

6 ORW6000 O-Ring Washer, Silicone, 66000-032

7 WFTSTARMARK Water Fitting Tube, 64700-16

9 IC212 Ignition Contact, 20000-289

I CEP6000T Cavity End Plate, 20000-238

12 RFT512C Rod Flow Tube, 20000041

13 LPP2I2R Lamp Pressure Plate, Rear, 20000-384

14 GCE600 Gold Cavity Ellipse, 20000023

15 H36 M3 x 20 Socket Cap

16 HI10 M5 X 7.5 Button Head

17 TS212 Thumb Screw

18 LPP212F Lamp Pressure Plate, 20000386

19 LTBA7000 Lamp Terminal Block Assembly, 10000-210
19A LTB7000 Lamp Terminal Block Less Gold Lamp Band
20 RPP212 Rod Pressure Plate, 20000-386

21 TLS212 Teflon Light Shield, 20000-240

22 ORS212 O-Ring, Silicone, 66200-109

23 LHBSTARMARK Lower Head Block, 20000-543

24 ORS9125 O-Ring, Silicone, 66200108

25 YRA633 YAG Rod Assembly, Mounted, 50320-033
26 YRA634* YAG Rod Assembly, Mounted, 5 mm 79 mm (Special upgrade)
27 YR479 YAG Rod, 4 mm X 79 mm
28 YR9555 YAG Rod, 5 mm X 79 mm (Special Upgrade)
29 LLI66 Krypton Arc Lamp, 20 Amps, 80750-009 (65 Watt)
31 LFTSTARMARK Lamp Flow Tube, 20000-038

32 HA45 M3 X 16 Socket Cap

33 UHBSTARMARK Upper Head Block, 20000-385

34 HI9 M3 Nut
35 WFCP212 Water Fitting Clamp Plate, 20000-399
36 ICC212 Ignition Coil Cover, 20000—462
37 H126 M5 X 30 Nylon Pan Head
38 H41 M3 X 8 Socket Cap

FREQUENTLY USED CONSUMABLES:

Lamp, 20Amp
Lamp Flow Tube
Rod Flow Tube
O-Ring Kit

LLI66 80750-009, 131100032, 131100054
LFTSTARMARK 20000-038

RFT512C 20000-041

ORKSTARMARK

Multi Purpose Filter

Front Mirror 80%

Rear Mirror HR

Lamp Terminal Block Less Gold Lamp Band
Gold Lamp Band

O 00O N O U1 A WN —

Other consumables upon request.

D6000 10100-354
MR3M80RHC
MR3MI00RHC
LTB7000

LC708

211



LAMP PUMPED LASER HEADS

High performance and reliability

Part No: CHBASTARMARK®65

Intelligent Solutions, Manufacturing & Development





